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Merely based on the unfounded assumption and
dubious (suspicious) evidence, the statement
draws the conclusion that___ . To substantiate
(support) this conclusion, the arguer points out
the evidence that___. In addition, heindicates
that___. Furthermore, he cites the result of a
recent survey in support of this recommendation.



somewhat convmcmg, but further reflection
reveals that |t omits some substantial concerns
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S —IEH X GMAT Argument

o STIMARET “Critical Thinking” BYBE

N TR HEATBRESN—HES:

“10FHT, EHRENILER, B—TUFRSNA, SIIT/hEZIMEE
R, TEFIIFEE, GRE, GMAT, SATEHERYER, FHBFWE
MZEE, MANRETHENZT. HENIRBUNENLE,
WEATEENNZERMEIRZL, CINZEEZHIEIZER, @
ZFHENIRBUNENRRE. ”
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EXEEadEAEE (E&RETE)

The threshold problem with this argument is
that ___ .

Another problem that weakens the logic of this
argument is that___.

Before | come to my conclusion, it is necessary
to point out the last flaw involved in this
argument that ___.
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EXEETE (LPRBRETE)
I. Evenif A,

2. Admittedly, .

3. If so, even though __, ___ _.

4. While this may be true in some cases, it is
equally possible that___ _
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To sum up, this arguer fails to substantiate his
claim that__C__, because the evidence cited in the
analysis does not lend strong support to what the
arguer maintains.
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discussed above, it: would have been: more

thorough and logically acceptable
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